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| think it is easy to get lulled into that idea, especially b/c the model utility test is 50 ubiquitous and we

y due to a fack of

rarely (it seems) have an occasion to test a non-zero slope. | think this rarity is probabt
other than slope for

knowledge of situations that might lead to hypothesis tests (a) other than zero, and {b)
regression.

Let me see if { can dredge something up...

Suppose | have a wiz-bang new method of test prep for the SAT, and | want to guarantee a 25 point

increase across the board on the next test. Then | would think a reascnable model would be: NewScore =
aipha + beta*OldScore + Error. My null hypotheses would seem to be: alpha = 25 AND peta = 1.

Some biologist or other has told me that for ears of corn of a given hybrid, the volume is proportional to the
cube of the length. (This Is the standard assumption for organisms of the same species.) -

OK, | reason that this means V = kLA(1/3), and | do the appropriate transformation...  Now | have:
LogV = alpha + {1/3)LogL + Error.

My null hypotheses would seem to be: alpha = 0 AND beta = 1/3.

It has been commonly observed {(at least among arthropod observers) that larger maies tend to mate with
larger females. Suppose that a theory Is posited that males (being males, right ladies??} will pick females
(or at least they THINK they are making the decision) smaller than themselves by 10%. Then, for the typlcal
garden variety male Mexican Redknee tarantula (Brachypelma smithi) one would have a made! similar to
Problem #2 but wio the transformation. For the male and female leg lengths, we would suppose the

following modef o be reascnable: :

FLL = alpha + beta * MLL

My nulf hypotheses would seem fo be; alpha = 0 AND beta = 0.90.




